Individual Differences, Perception and Conflict, and learning styles
Solving organisational problems at Quick Cuisine (QC) will bring down conflict to an optimal level and increase motivation. 
Appendix 1 has a table, which shows what is going good and what going bad at quick cuisine and what could be improved. Rows highlighted in orange are serious situations that will be discussed. 
In this report, the Interactionist Frame of Reference on Conflict is assumed, as the authors believe that a certain level of conflict is positive for the development of the organisation. Figure 1 shows three different levels of conflict in relation to organisational performance. Too much conflict (3, too great) means organisational performance is low. This is where QC finds itself at the moment. The conflict level must move to level 2, the optimal level where organisational performance is high. 
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Adopted from: Huczynski and Buchanan, 2007
Process theory can aid to approach organisational problems and identify solutions. Process theory is effective because, unlike variance theory, it helps identify the effect of unfolding inter-connected events (Mohr, 1982), as shown in figure 2. The following are some of the points put forward by Mohr (1982). These will help understand:
1. Messy social and organisational events
2. Which are affected by a large number of different factors
3. Which do not have independent effects, but combine and interact
(Huczynski and Buchanan, 2007)

Figure 2 shows a chain of events at Quick Cuisine that are all connected and lead to unmotivated workforce and conflict. This has a negative effect on the communication between management and staff. In order to be a good manager, one must have good communication. Figure 1 identifies communication as a source of problems. Communication at QC must improve to avoid unnecessary misunderstandings, bring conflict down to an optimal level and increase motivation. 

Figure 2
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Some employees do not like the colour of the uniform because they perceive “it makes them look sick”.  However, Archie’s perception might be that that the colour green is adequate to i.e. the premises. 
“It would make little sense to ask whose perception is correct”.
(Huczynski and Buchanan, 2007, p.216)  

Archie’s objection to changing the uniform colour undoubtedly leads to an unsatisfied workforce. Archie is aware that staff does not like the colour but he chooses to ignore their opinions, a rather autocratic approach. This creates conflict between the management and the staff. 
The solution to this problem is to listen to what employees need. If they are unhappy with something, Archie should do something about it. Perhaps, Archie can adopt a democratic approach by swapping the green to a colour they prefer. This would have a great impact on the workforce, as they will perceive that Archie is concerned about their needs and wants, which will then develop closer relationships with management. 

There is also a lot of conflict between employees. For example, permanent general assistants (GA’s) feel like they know better than temporary GA’s, and problems usually occurs when they work together. This is because Archie does not train staff properly and expects them “to pick things up as they go along”. Furthermore, it is evident that Hortense did not receive training in people management when she got promoted. She is perceived as being bias towards some GAs, and that should not be the case. Whilst at work, Hortense must assure that all her line subordinates comply with company policy. For example, if someone arrives late, then this should be recorded, regardless of Hortense’s relationship with the latecomer. 
The solution is to provide full training to all new GA’s. The result would be temporary and permanent GA’s trust on each other’s ability when they work together. Permanent GA’s will no longer perceive that they cannot trust temporary GA’s and that they will have to most of the work. This will reduce conflict between employees, and develop a better working atmosphere for everyone, which in turn increases the quality of communication amongst staff. Also, Hortense and assistant managers must receive appropriate and advanced people management training, so they can be more professional, unbiased, an able to deal with employee complaints.  Archie must bear in mind that these GA’s are the first line of contact with customers, and they must be highly motivated and enthusiastic, so good customer service is delivered. 
Furthermore, there is the problem of employees leaving for cigarette breaks, which causes resentment among non-smokers. Archie can implement a cloaking system. Every time an employee feels like going for a “cigarette break”, they cloak-out, and cloak-in when they come back. The amount of minutes they spent on their cigarette break is taken out their pay cheque. This system can also be used to see who was on time and who was late for their shift. Some employees (smokers) will argue that this is unfair. Archie must explain that they will be not paid to be unproductive during their working hours. 

 

The organisational changes suggested will take time. Archie will find that employees will find it hard to get out of their bad habits. One way for Archie to make sure employees learn to adapt to the changes is to use reinforcement regimes (Huczynski and Buchanan, 2007). 
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   Adopted from: Huczynski and Buchanan, 2007
Table 1 shows the different reinforcement regimes that can be used based on the type of employee behaviour. For example, if an employee is late to a shift more than three times in a week, Archie can reduce the number of shifts they get the week after (punishment). If assistant managers respond better to employees’ issues, then this would go on their annual review, which can then increase their salary.  



  
 Appendix 1 
	Good things
	Bad things
	What can improve

	Archie gives fewer hours to those employees whom he is not satisfied with. 
	
	He should give performance reviews more often and set targets. 
He could also make recruiting more strict, so as to select the best candidates.

	Uneven balance of the sexes (5 female and 1 male GA’s).
	Archie has too much freedom (not necessarily a bad thing, but he only has two years experience).
	Archie should justify why there is an uneven balance of such. He should inform the HQ of his decisions, so as to receive advice in order to avoid lawsuits.  

	
	Training is “offered” not compulsory. Employees “pick what they need to know as they go along”.
	Thorough and regular training must be provided to all employees and make sure they know what they are doing from the start. This ensures high levels of customer satisfaction and avoids errors that may harm staff or customers. 

	Clean set of uniforms is brought each day from local dry cleaners.
	
	

	
	Some employees don’t like the colour of the uniform because “it makes them look sick”.
	Archie could take this into account and consider changing it. This could show he cares about the thoughts and opinions of his workforce. 

	
	There is a social division between permanent staff and temporary staff. Problems occur when they work together.
	Archie must take action and eliminate this division, as it limits workforce productivity. 

	Archie investigates all written complaints.
	
	All complaints must be investigated thoroughly 

	
	Supervisor (Hortense) is bias towards some employees

	She should receive training on people management

	
	Smokers take “cigarette breaks” and cause resentment among non-smokers.
	Smokers should wait until their break for a cigarette, and it should be stated in their contract of employment. Thus, everyone is treated equally. 

	
	Employees get frustrated when they hear co-workers are not working as hard
	The duty of the supervisor should be to ensure that everyone is pulling their own weight and eliminate “slackers”. 

	
	Duty managers listen to staff complaints about co-workers but “seem” to do nothing about it. 
	Duty managers should listen to staff complaints and take action, as well as notify Archie. These complaints are feedback, and feedback improves organisational performance. 

	There is a telephone network in the premises to aid communication between concessions and departments. This speeds up operations.
	For some reason the phone network does not seem to work at the ice scream sections. Also, Employees at the tills are not using this network, and would rather leave their positions to go and speak to one of the duty managers. 
	Staff should be encouraged to use the telephone network and Archie should consent to them leaving their positions. 

Archie should speak to the IT and communication department so that they can fix the telephone network at the ice scream section. 
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